( '2_23’3 ’ ,\'\,3 m .

30\ whven 3 0
R
-

Lo (¥n) ity

H— 2

f
Lo |, [ (2% a0 JW
= h—> o0 |

e
B Lo ,—,“L’fm(h) IN (3% mn)
A ap
- h!ﬁ; ’Fljﬂ\fﬂ)[ [ ) 4—'["‘(33)*'“ A (ﬂn) f
e

A :
| /m(é.fou "Ll [MML MEY SN (:/\)}
o |

L

Q

{ @ Ufyu\/j’ (‘Ai'ﬁp‘m Stums | ?!NJ» e ﬁ\w\f}" @‘9

-

- i L |
) h%"?mz L N C ()=o)

(4
A R Tk -/
["‘K:A% I'I\/ﬁ/\
N n
P LS S
Lim o n l"»J?"‘ n
Nz g0



A ) ‘
Now we J?ebe, twe  dnn wtsik e 1 ¢ b ol bt ( ol &);s{mémte_
Loribute T Yo b 20l o gebd

e
b o (LLERE)-
Mon




: [/l(/wva?\mﬁgg pu\@:"
| Ut _
ﬂ\vv +" zvu‘(’ = /z% T / i\)
| JCJ‘?@.* 4ot £= &

oorbed .
[&QPQL /{m& €

(’fdfe dernet ey aﬁ?\)

’t\"—Pé* :_i iﬁf‘\’ < Z’Qoﬁﬁw\,
71:3
/ 43
- Ine 't t—z—"
> . )
= M
- taot

7 | ‘
@ Q%}m} Ricoaon sums, Find the Jimid f
| 4

A (‘__ n+7"l : 0
'1',‘ A 253 n\
e A Q//z 3.\,%)

gélvﬁ’ur\v
¥ 1
} 6%(’\%*)/2233 ,:‘)n‘
Live g
ner 0
N vl ) s . 5N
- j!vm ﬂl\/ &L’ »s/\/. by (? 2 " )
h? 50
= | - u{,)_——is KA z N
JZw tls/\ Q/L! T Anon k ‘W\QAZ%ZM g‘ + '7"%%/\ )
= ho> o ‘
= M
Lim —Z’L P A;r ﬂ«\ N + A i l{ ,@,\/ ’k
= N K =1



N n
Y 1 Kpls
L %'"&ka/’kz-lﬁ“{"y‘v%}\zkzmﬂ
__\ n‘;%oa Z = R~
— ﬂg;/ I }tv/h‘%*/me
N i ; Lk ;&
= n—=2 g 4 ?‘KWN*WRZ;A: ""f\jy\,m';\“ % An
> U | ) y/2
/ k=1

| ANy ! | &
_ y{:;oo q %Zf\p\ -i//\/(j X jnkdk')thmzm/\/f >< 0&*)

,ﬁ\ . /\rTl , - ._!n %
_ y\u@::\éo Y ZLM\ a‘r)'\_/( ﬂ) /L/nn (Z_) /‘vawS)
o prob e
_onry - nS n
— i\[\»:(;o = [m ’ Y " e /‘/\ e

-1
%wv - N
- h—a
o )
) Ao 20
..
7 Nz 0
= & ,
-1 /Z P
\ — g 1
< — ‘A rl
— n-
: \/{‘m V\/ }/\J—p KD
1 - h—= o
‘ )




